
解  答 
 

２０２５ 科目名 数学（解析）  

 

(1) 𝑓𝑓(𝑥𝑥0 + 𝛥𝛥𝑥𝑥,𝑦𝑦0 + 𝛥𝛥𝑦𝑦) − 𝑓𝑓(𝑥𝑥0,𝑦𝑦0) = 𝑓𝑓𝑥𝑥(𝑥𝑥0,𝑦𝑦0)𝛥𝛥𝑥𝑥 + 𝑓𝑓𝑦𝑦(𝑥𝑥0,𝑦𝑦0)𝛥𝛥𝑦𝑦 

+
1
2

{𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥, 𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦)(𝛥𝛥𝑥𝑥)2 + 2𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥,𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦)𝛥𝛥𝑥𝑥𝛥𝛥𝑦𝑦

+ 𝑓𝑓𝑦𝑦𝑦𝑦(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥,𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦)(𝛥𝛥𝑦𝑦)2} 

ここで 0 < θ < 1. 

(2) 𝑓𝑓𝑥𝑥(𝑥𝑥0,𝑦𝑦0) = 𝑓𝑓𝑦𝑦(𝑥𝑥0,𝑦𝑦0) = 0. 

(3) 𝑓𝑓(𝑥𝑥0 + 𝛥𝛥𝑥𝑥,𝑦𝑦0 + 𝛥𝛥𝑦𝑦) − 𝑓𝑓(𝑥𝑥0,𝑦𝑦0) = 1
2
𝑑𝑑𝑇𝑇 �

𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥,𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦) 𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥,𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦)
𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥, 𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦) 𝑓𝑓𝑦𝑦𝑦𝑦(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥,𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦)�𝑑𝑑 

(4) 十分条件は 

𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0,𝑦𝑦0) > 0, �
𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0,𝑦𝑦0) 𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0,𝑦𝑦0)
𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0,𝑦𝑦0) 𝑓𝑓𝑦𝑦𝑦𝑦(𝑥𝑥0,𝑦𝑦0)� > 0 

（理由）２次導関数が連続なので，上の条件が成り立つとき，十分小さな|𝛥𝛥𝑥𝑥|, |𝛥𝛥𝑦𝑦|に対

して，  

𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝛥𝛥𝑥𝑥, 𝑦𝑦0 + 𝛥𝛥𝑦𝑦) > 0, �
𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥, 𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦) 𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥,𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦)
𝑓𝑓𝑥𝑥𝑥𝑥(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥,𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦) 𝑓𝑓𝑦𝑦𝑦𝑦(𝑥𝑥0 + 𝜃𝜃𝜃𝜃𝑥𝑥, 𝑦𝑦0 + 𝜃𝜃𝛥𝛥𝑦𝑦)� > 0 

となるので． 

(5) (i) 𝑓𝑓𝑥𝑥 = 2𝑒𝑒−𝑥𝑥2−𝑦𝑦2𝑥𝑥(−𝛼𝛼𝑥𝑥2 − 𝛽𝛽𝑦𝑦2 + 𝛼𝛼),𝑓𝑓𝑥𝑥𝑥𝑥 = −2𝑥𝑥𝑓𝑓𝑥𝑥 + 2𝑒𝑒−𝑥𝑥2−𝑦𝑦2(−3𝛼𝛼𝑥𝑥2 − 𝛽𝛽𝑦𝑦2 + 𝛼𝛼) 

(ii) 極小値 𝑓𝑓(0,0) = 0. 極大値 𝑓𝑓(0, ±1) = 𝑒𝑒−1𝛽𝛽 

 

 

 

 


